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Teacher : Did you oversleep again?

Student : I was going to leave my home at 7:30.

T. : Then, what happened to you?

S. : I found my bike broken and had to
repair it. So I left my home at 9:00.

Question : What time did the student leave his
home?
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Teacher : Did you oversleep again?
Student : I was going to leave my home at 7:30.
T. : Then, what happened to you?
S : I found my bike broken and it took

one and half an hour to repair »it
« before I left v

Question : What time did the student leave his

home?
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Unfamiliar language elements which are
being held in suspension and recirculated
while decisions are being made as to the
composition of the entire message impose a
heavy load on the short-term memory. Some-
times the short-term memory becomes over-
loaded and some of these segments have to be
discarded in order to leave room for the
absorption of new segments.
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Man : Which one is Taro’s father?

Woman : He is wearing a suit with glasses.

Man :OhI see.

Q. : Which picture best fits the descrip-
tion?

D#AH No.l

Man  : Which one is Taro’s father?

Woman : He is wearing a suit.

Man  : The one with glasses?
Woman : Yes, that’s him.
Q. : Which picture best fits the descrxp

tion?
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Listening Test Script

SEH : iFE s

Part 1

F1I0MTY, TRBEHET,

No.l

M : Which one is Taro’s father?

W : He is wearing a suit with glasses.

M : Oh I see.

Q : Which picture best fits the description?

No.2

M : At which hotel are you staying?

W : It’s square when we see it at ground level and
it’s like the letter T when we see it from the
sky.

Q : Which picture best fits the:description?

No.3

W : What are they doing?

M : The lady is going downstairs while two gen-
tlemen are talking upstairs.

Q : Which picture best fits the description?

No.4

W : Where is your office?

M : My office building is on the left side of the
second tallest building, the black one.

Q : Whichv picture best fits the description?

CNEZADSFEXEFCTHARIRY T E 2R BSMETYT, 2ER 1ELTRINET. BERM




No.b

W : Which one is your girl friend?

M : She’s wearing a ribbon with long hair.
W : Oh, I see. That’s her.

Q : Which picture best fits the description?

PartIl

N ANDEEEX 2E T Z DB DOQuestioniZ i § 2 2 BEIME T, &85 & Questionit 1 FER T

ZENE T, BEREIT 108 TY, TIREDET,

No.6

W : Did john begin looking for a job?

M : No, he won’t graduate from college until a

year from March.
-Q : When will john graduate from college?

1: This year
2: Next year
3: In two years
4 : He already graduated.

No.7

M : When are you going to go shopping?

W : I want to go tomorrow, but the department
store is closed on Wednesdays. So I'm going
shopping the day after tomorrow.

Q : What day is it today?

1: Monday

2: Tuesday
3: Wednesday
4 ; Thursday.

No.8
M : Look, there is a great movie on TV tonight!
W : 1 have to get some sleep so I can wake up
early for work tomorrow.
Q : What will the woman do tonight?
1: watch a movie.
2: go to the movies.
3: go to bed early.
4: go to work.

No.9
W : Have yoﬁ ever seen so many people waiting
for the concert?
M : No, I wish we'd stayed at home.
Q : Why does the man wish he had stayed at
home?
1: He doesn’t like to go to the concert.
2: There are too many people standing in
line.
3 : He doesn’t like music.
4: He likes to listen to CD better.

No.10
M : There’s a phone call from your classmate.
W : I must rush out and don’t have the time to
talk to her, so tell her I'll call her back after
lunch. ‘
Q : What will she do?
1: talk to her classmate now.
2 : meet her classmate after the call.
3: call her classmate soon.

4 : call her classmate in the afternoon.
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No.l11
A famous Jazz singer will come to Japan to
hold a concert. Today they began to sell tickets at
9:00 a.m. Kumiko came to the ticket counter at 6:
00 a.m., but people had already formed a long line
and she could finally buy her ticket at 11:00 a.m.
Q : How long did Kumiko wait to buy her ticket?
1: five hours.
2 : four hours.
3: three hours.
4

: two hours.

No.12

Last summer it was not so hot, so air condi-
tioners didn't sell well. At the end of August Mr.
Sato bought one for one hundred thousand yen
which was just half of the regular price.
Q : What was the regular price of the air condi-

tioner?
1:50,000 yen.
2:100,000 yen.
3: 150,000 yen.
4 : 200,000 yen.
No.13

The concert was planned to start at one, but it
began half an hour late because of the heavy

SNOW.
Q : What time did the concert begin?
1:at 12:30
2:at 1:00
3:rat 1:30
4: it was cancelled.

No.14
Ken was really surprised to meet Junko at the

station. After graduating from college, he never
had the opportunities to see her. He loved her
while in college, but he never opened his heart to
her.
Q : What did Junko mean to Ken?

1: She was his girl friend.

2. They loved each other.

3: She loved him, but he doesn’t.

4 : He loved her, but she did'nt know.

No.15
Hiroko has been waiting for a letter from her

penpal who lives in Brazil. It is her custom to
open the mail box as soon as she comes home.
Q : What has Hiroko been doing?

1: waiting for a penpal from Brazil.

2 : waiting for a letter from Brazil.

3: writing a letter to her penpal.

4 : reading a letter from her penpal.
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No.1 2 3 4
: Which one is Taro’s father?

: He is wearing a suit.

: The one with glasses?
: Yes, that’s him.
: Which picture best fits the description?
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0.2 |

: At which hotel are you staying?

: It’s square when we see it at ground level.

: What is it like when we see it from the sky?
: It’s the letter T.

: Which picture best fits the description?

=5 =K
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0.3
: What are they doing?
: The lady is going downstairs.

: How about two gentlemen?

: They are talking upstairs.

P =EEE=

: Which picture best fits the descrlptlon?

Z,

0.4

: Where is your office?

: Look at the second tallest building.

:0. K.

: My office building is on the left side of it.
: The black one?

: Yes.

: Which picture best fits the description?

PE=EEERE=

NO.5 | 2 3 4

: Which one is your girl friend?

: She’s wearing a ribbon.

4 l
1TV
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: The one with long hair?
: Yes That’s her.
: Which picture best fits the description?

OEEEE
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: Did john begin looking for a job?

: No, he won’t graduate from college.
: Till when?

: Until a year from March. -

o2z =z

: When will john graduate from college?
1: This year |
2: Next year
3: In two years
4: He already graduated.

No.7
M : When are you going to go shopping?
W : I want to go tomorrow.
M : But the department store is closed on
Wednesdays.
W : Well, then I'm going shopping the day after
tomorrow.
Q : What day is it today?
1: Monday
2 : Tuesday
3: Wednesday
4 : Thursday.

No.8

: I have to get some sleep.

. Why?

: So I can wake up early for work tomorrow.
: What will the woman do tonight?

1: watch a movie.

=5 ==

2: go to the movies.
3: go to bed early.
4: go to work.

: Look, there is a great movie on TV tonight! '

o

: Have you ever seen so many people?

: No.

: They are waiting for the concert.

: I wish we'd stayed at home.

: Why does the man wish he had stayed at
home?

oE=z3=z

1: He doesn’t like to go to the concert.

2 : There are too many people standing in
line.

3: He doesn’t like music.

4 : He likes to listen to CD better.

No.10
M : There’s a phone call from your classmate.
W : I must rush out and don’t have the time to
talk to her.
: What shall I tell her?
: Tell her I'll call her back.
: When?
W After lunch.
Q : What will she do?
1: talk to her classmate now.

= =K

2 : meet her classmate after the call.
3: call her classmate soon.
4 : call her classmate in the afternoon.
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No.11
A famous Jazz singer will come to Japan to

hold a concert. Today they began to sell tickets at
9:00 a.m. Kumiko came to the ticket counter at 6:
00 a.m., but people had already formed a long line.
And she could finally buy one for her at 11:00 a.m.
Q : How long did Kumiko wait to her ticket?

1: five hours.

2 : four hours.
3: three hours.
4

: two hours.

No.12

Last summer it was not so hot, so air condi-
tioners didn’t sell well. At the end of August Mr.
Sato bought one for one hundred thousand yen. It
was just half of the regular price.
Q : What waé the regular price of the air condi-

tioner?
1: 50,000 yen.
2: 100,000 yen.
3: 150,000 yen.
4 : 200,000 yen.
" No.13

The concert was planned to start at one. But it
began half an hour late. It was because of the
heavy snow.

Q : What time did the concert begin?
1:at 12:30
2:at 1:00
3:at 1:30
4: it was cancelled.

No.14
Ken was really surprised to meet Junko at the

station. He never had the opportunities to see her
after graduating from college. He loved her while
in college. But he never opened his heart to her.
Q : What did Junko mean to Ken?

1: She was his girl friend.

2 : They loved each other.

3: She loved him, but he doesn’t.

4: He loved her, but she did’nt know.

No.15
Hiroko has been waiting for a letter. It was to

come from her penpal. Her penpal lives in Brazil.
It is her custom to open the mail box as soon as
she comes home. v
Q : What has Hiroko been doing?

1: waiting for a penpal from Brazil.

2 : waiting .for a letter from Brazil.

3: writing a letter to her penpal.

4 : reading a letter from her penpal.



